Date: _______________  Block: ________  NAME: _____________________________________ # ___


	Assignment: Ch. 6 Trigonometric Identities


· Answer ALL questions in the space provided. 
· Attach last question with a staple.

· Simplify all final answers

· Keep all answers EXACT.

	1.  Determine the exact value for each of the following:
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	2.  Angle 
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 lies in the third quadrant and 
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	3.  Solve for the interval given.
A) 
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3.  Solve for the interval given.
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C) 
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	4.  Prove the following using the identities given in class.
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· Each Question is to be completed on a separate piece of paper (yes, I know you think it is a waste of paper…) Staple these pages to the back of this assignment.
· You must clearly show your strategy and all of your work.  (I should not have to guess what you did at each step)
· All questions must be completed, however, only TWO questions will be marked (one from each column).  This will be determined in class the day this assignment is due.  Points will be awarded to all other questions as completion only.
· You may ONLY use the identities discussed in class (your yellow sheet).  We understand that there may exist identities out there in the “real world”, but they go beyond the scope of this course and ALL of these questions can be answered using our identities.
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3.  
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B.  
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